200

180

160

140

120

100

80

60

40

20

Ratio to Pythia 6.428 390

0.5

Rivet 3.1.10, = 2.5M events

7000 GeV pp Top (parton level)
— 1 ' T T T L L
— Cross section(various cuts) —
— - ©- Pythia 6.428 390 =
— --&-- Pythia 6.428 391 N
— -%-- Pythia 6.428 392 -
— -+~ Pythia 6.428 396 -
| --%-- Pythia 6.428 397 ]
[ --¥-- Pythia 6.428 398 ]
[ o0 ]
[ R R il
I \;‘\\' N
- ¥ ]
n W N
— Y % ]
~ ..‘\ e & {. }“\\ N
- %____ @-_ __.. 54 'E\\ //’i/ : Q‘\\\ —
I . A 7 B\ Py [
| \Q. '// N ,1;/ 3, ‘ /: N |
_ N\ 4// N é;/ \g: & '@\\1&- B
- LT e LN ]
- b N
= *---x
_, |, | | | | | | | | | | | | [ | — ,_
: | T T T T | T T T T | T T T T | T :
I SRR R S e SR iU IP 7K SR SEEE Sl it i ]

LRSS EEELEE SR N BN EEE. S ST = IR R i I
B o-x--x
" | " 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 1 " | " 1
0 5 10 15

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


